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Section |

10 marks

Attempt Questions 1 - 10

Allow about 15 minutes for this section

Use the multiple-choice answer sheet for Questions 1 — 10

1. If (7,b) divides (3, —4) and (9, —7) internally in the ratio a: 1, find the values of a
and b.

1 ,__2
(A)a—z,b— 5
(Bla=2 b=-=

(D)a=2, b=-6

2. In the diagram below, O is the centre of the circle ABCD. BCE is a straight line.
If £ADC = 105°, 2~ 0OBC = 30°and 2 OAD = 40°,then ~ DCE =

(A)75°
(B) 80°
(C) 85°

(D)90°



3. a3p is a 3-digit number, where @ and £ are integers from 1 to 9 inclusive. Find the
probability that the 3-digit number is divisible by 5.

(A)—
B)=
©)5

(D)z

4. Letb>1andc > 1.Ifa =log. Vb, thena™t =

(A)log, c?

(B)2log. b

(C)log.

(D)log: 7>

5.

d
P (xsin"tx) =

(A)sin™1x — %xz

(B)sin"!x + \/19_67

(C)cos1x + \/%

(D)cos™tx — ﬁ



6. Itis given that « and 8 are roots of the equation x? + 1 = 6x, thena — f =
(A)—4v2
(B) 4V2
(C) £4v2

(D) 32

7. If "P, = 56, then

(A)yn = -7
(B)n =8

C)n =11
(D)n = 112

.. 1 .
8. The minimum value of ———is
sin“ x—2




1
——.dx =
f\/ZS — 42

10. The coefficient of x2™ in the binomial expansion of (1 + x)*" is

(A) 4n!

2n!2n!

(4n)!
( ) 2(n!)2

(4n)!
©) @

(D) None of the above

End of Section A



Section |1

60 marks

Attempt Questions 11 - 14

Allow about 1 hour and 45 minutes for this section

Answer each question in a NEW writing booklet. Extra pages are available

In Questions 11 — 14, your responses should include relevant mathematical reasoning and/or
calculations.

Question 11 (15 marks) Start a NEW Writing Booklet

(a) Determine the acute angle, between the line x — 3y + 2 = 0 and the line BC 2
where B is (—1,—1) and C is (1, 3).

(b) Evaluate 1
3x

im—
x-0 2 sin 4x

(c) Solve for x, 2
(x—=2) >0
(x —1D(x-3)
(d) Write down a general solution to the equation cos 2x = — ; Leave your answer in 2
terms of .
(e)
(i) Express 12 cosx — 5sinx in the form A cos(x + a) where A is positive 2

and 0° < a < 180°, correct ¢ to the nearest minute.

(i)  Hence find the maximum value of 12 cos x — 5 sin x and the smallest positive 2
value of x for which this maximum occurs.

(f) Calculate the number of different arrangements which can be made using all the 1
letters of the word BANANA.

Question 11 continues on page 7



(9)

(i) Differentiate cotx with respect to x.
(i) Hence differentiate x cot x with respect to x.

(iii) Hence find

J. x cosec? x.dx

End of Question 11



Question 12 (15 Marks) Start a NEW Writing Booklet
(a) Express sin 26 and cos 260 in terms of t = tan 6 to show that

1+ sin 26 — cos 260

=tan@
1+ sin 260 + cos 260 an

(b) In the expansion of (1 + 2x)™(1 — x)?, the coefficient of x2 is 9. Find the
coefficient of x in the expansion.

(c) If the roots of x3 — 6x2 + 3x + k = 0 are consecutive terms of an arithmetic
series, find k.

(d) Evaluate

3

f4x\/1 —x.dx
0

using the substitution u = 1 — x, express your answer in simplest exact form.

(e)
(i)  Prove by the Principle of Mathematical Induction that

1x2V4+2%x2243%x2%++nx2"=mn—-1)x2"1 42
for all positive integers n.

(if)  Using the result of (i), simplify

n
Z(r +1)x 2"
r=1

(f) Brian is to celebrate his 16" birthday by having a dinner with 11 other family
members. At this dinner, Brian will sit at the head of a non-circular table. In how
many ways can everyone be seated?

End of Question 12



Question 13 (15 Marks) Start a NEW Writing Booklet

(a) A particle moves up and down so that its vertical displacement, x from a point 0, is
given by x = 10 + 8sin 2t + 6 cos 2t where x is in metres and t is in seconds.

(i)  Show that the particle moves in Simple Harmonic motion. 1
(i)  What is the period of the motion? 1
(ili) What is the amplitude? 1

(b) A container in the shape of a right cone with both height and diameter 2 m is being
filled with water at a rate of = m3 /min.

< Zm >

2m
vV
(i)  Show that 2
av _mh® dh
dt 4 dt
(if)  Find the rate of change of height h of the water when the container is % th full 2

by volume.

Question 13 continues on page 10



(c) The rate of change in the number of members of the Sydney Boys High School Old

(d)

Boys Mathematical Society, M, is given by

am _ k(M — 50)
dt

The number of members of this society at the start of 1995 was 70.
(i) Show that M = 20e*t + 50 satisfies the differential equation above.

(i) In 2000, the number of members was 150. Find the number of members in
2005.

(iii) There is a year that this society will eventually become a “ghost society” with
no members. Do you agree? Give reasons.

2h A

A projectile is fired with speed /% at an angle 6 to the horizontal from the top of

a cliff of height h and the projectile strikes the ground a horizontal distance 2h from
the base of the cliff.

You may assume y = Vtsinf — %gt2 and x = Vtcosé.

(i) Showthaty = x tan 6 — 2 (1 + tan? 0).
2V2

(if)  Find the 2 possible values of tan 6.

Question 13 continues on page 11

~10 ~



(e) In the diagram below, PQRS is a cyclic quadrilateral, ~ QPS = 90° and
/PSR =6,PQ =a,PS=bandQR =c.

R

Show that (a? + b?) sin? @ = a? + ¢? + 2ac cos 8.

End of Question 13

~11 ~



Question 14 (15 Marks) Start a NEW Writing Booklet

(a) Atan election, 30% of the voters favoured party A. If 5 voters were selected at
random, what is the probability (as a decimal) that

(1) exactly 3 favoured party A.

(i) at most 2 favoured party A.

(b)
(i) Show that
3tanx — tan® x

1—3tan?x

tan3x =

(if)  If x satisfies the equation tan 3x = cot 2x, show that x also satisfies the
equation 5 tan* x — 10tan?x + 1 = 0.

(iii) Using the result of (ii), deduce that

tang: fS —2v5

(c) In the expansion of (1 + x)™, let S; be the terms containing the coefficients
"Co, "Cyp, MCy, ...
whilst S, be the terms containing the coefficients
"cy, "Cs, "Cs, ...
Prove that,
(i) 45S, =0 +x)" -1 -x)*"

(i) (51?2 =(S2)? =1 —xH)"

End of paper

~12 ~



STANDARD INTEGRALS

Jx”dx:ix””, nz-1 x=0,ifn<0
n+1

idx:lnx, x>0
X

1
e¥dx==e*,a=0

<))

r

1.
cosaxdx=—=sinax, a=0
a

J

r

sinaxdx= —lcosax, az0

J a

( 1

sec’ axdx=—tan ax,
a

i

1
secaxtanaxdx =—secax, a=0
a

(1

) az+x2

r

-1

dx:ltan ,az0
a

—————dx =sin ,a>0, —a<x<a

SDI>< o | <

\/7
\/7dx In( xz—az),x>a>0

In(x+\/x2+a2)
J \/X +a

NOTE: Inx=1log, X, x>0

~13 ~
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SOLUTIONS

Mathematics Extension 1
Trial HSC 2014

Select the alternative A, B, C or D that best answers the question. Fill in the response oval
completely.

Sample: 2+4= (A) 2 B) 6 (C) 8 D) 9

AO B @ cO DO
If you think you have made a mistake, put a cross through the incorrect answer and fill in the
new answer.

A® B W ¢ DO
If you change your mind and have crossed out what you consider to be the correct answer, then
indicate the correct answer by writing the word correct and drawing an arrow as follows.

correct

A B ¥ (61 DO

Section I: Multiple choice answer sheet.

Completely colour the cell representing your answer. Use black pen.

8.

9.

OEOO
OEEO®
OEEO®®
QOEOO®
OO O®
CEEO®
OO
OO
OCEOO®

0w W OO




1 dCos =

“sla

o B Y

K= Dy oo AKX, 4w 2xn
2 2

)

:1 = ‘ .. F % E_J.S ] -__..: - 4" iC,Zi
’E‘ )
o i’:‘; e £

|81 1oy x —88inx. = Acoxze

et = O SN Sime

R _Siﬁ?dj,, 5_

= hen A Do

X904 Dsndoe

I 3. 4

A
290 g SNAD.

o

8.

A=

5 12coex - 5 Sina

_consicdey.
oyE o= -2

MNowx valve =13

| OCCcurs wken Cos(x 72)2‘!)

= .

S i’ ‘ B ————— o ..
N

Cos(xeayzr)s L

—

L2230 = B0
= BFD 2 o

U/

(5-89)




g0 d cotx g = L dx . u-l -0
| e Gy .y =dopx  V'zsecky

ovdlxegmidn = xw(—cose™) o cobx

. T e = Dcoecty
N

0 ‘i____S&C_OBQQz'J\,,dl = =\ - X ecovec®o dx

. - P@S % - dcosecte, - cota) Ay

= - Q (,QOiD’t — Duobecj?} — COSA o _
—_-_1-—\:,:3__;_;@4 X - In Ls_-iam} e
= In(sino) = et vo- (O



12\&\ T= Fo0 &
/S 7

) 1)t/ | 2e
- )3 28 - cos28¥
pus= | #5020 - cos28 So.
| + 5t f'COSZ& < t_ A4
,-IJ'
>t t-f}'
= [+ I+t 14t |+t
| 4+ 2%t L=t !;——tl
{+t™ If—t’-
P AT
_ /l/-f-t +t2t -1 +C
ya
P+ +?_t+\—}':/‘
7
.2_&7-+')_t
- 24+ + 2
Semepe £ 2 i\
_— = ‘}
P R 1Y
%}/‘!"l}
= €
= 4oan &
= RLHS

l;)) (r+2x>n<l—x)1='.:<nccf—nCJ?.x) tnéa(lx)1+ .

coetlici'ent of x* ¢ 9

. \/l -2t xl\
/\ 4

C, + GO TTC ) = 9

| —4n 4+ 4nln-1) = 1

pa

/"q"’l-}-?,y‘l-—lf\, = q

2n"-bn -8 = O
n-3a-%=0 K7 ;
./ \ —
(,q__.#}(rkf-lj'—‘—o

i N
/,@,7/) ’

N




coeffbaciepd oFf »x i's

Col-2)+7C(2) = -2+ 8

= 6

Yoad

C) fet roo)S Ae d—/g%_&i/ﬁ

(A-R)+* +(x+R) = :i_

3 = ~(8)

1

L= 2

Shee A IS & ~oof P(Z):-O

(2)2-6(2) 1 3(2) 1 2= O

—~(0O R =0

L =70
.'5'/,
0() f xu‘!-x ol = [
(/o Aq - -]
- Ax
Ax = ~du
€ b F chovnge whm »x=0 y=1
¢ v 3 i
. N X—/q,;u:-.—
= l (l'u)\,b( ""‘M ¥
Vi
A'z 1 Z"L\
= [ [ur-ut)du
(J_p_ N
[ =<
- ‘2‘('/{3/1—"' Z—_U\/L
3 S 41
- . ¢ , EYN 72 W
5 /L—Z /s
— )_/l\’fl_'?_-/\'\?’——/k/al“—:/&/ ,)
= \ s U/ K AN S
W=7
= =T |/




*

e,)l

: ) Frove 12 +2x2°42x2% _ rax2"= (a-1)x2""'+2

frove frue for n=|
LHS = [x2 {{HS:\//-/)KZW’{—?_
=2 = 2
LHS =KHS
S traue for A= {

Hsswne frue for pztf | whtee e

i Ja.
2 #0x2%43x2% 0 b k2P -k 2T+ D

Prvu’t 7"?‘441’_

. f gy 2
’ ~or
je fed'r2x2%8 3623 4 kxd®e (ertW2 T2 k2 + 2

LHS = )xz’f-z.xllf 3x?_.3f_~--+ hxlri}(l?-ﬂ)rln‘ﬂ

" T

= (k-1)x2"""4 2 + (et ) 2"

= zkﬂ(kx\{- }L}‘\j\) +— 2

1

2}2“(’2/&‘) 2

b+

=~ kx2

+ 2
- pHS

2. Frue Lo = BH/

77 ue %}7 l)}p&ﬂ((/}dléﬂ ﬁ/‘ I/ﬁ}(}él(/& fA}eqe/; T,

1) = (re)2

-~

r=1|

t

= 2x2 |-'3x2:2-+ 4 x z)r‘-__.__ t (f’H—])X '2_“

—
—

Pl

3 3 & , —antl
(27&2 "3*2. f‘4-,\(2 ,--_--’}’ (i’\'l-f)xl_

Lk

)
a ! 2 ~2 - ~ ’1"'\ |
1 (le FIxL FIxLFom F (aFI I

z/—i

r n+Z o\ )
(rl)tZ -l'-Z_)'_/

1}
N




- waz_ + , -
- A v 5 FT
oR
n - \
= (rr1)2 ://§ rx2/ ’r( =2/
r=i = =
5 \ georetil ST
f _C':,L: a (r'-1)
‘C’OMAJ =
n s Al S,, = ?_/?—n_i\
__2 r*z_ :.(n_‘)z— s _&—ZT
—2"
n ' ] ot - et /
=1 _ | :
SPRNCENAY
At
= M x 2




Question 13
@) x =10+ 8sin2t + 6¢cos2t

0] X =16c0s2t —12sn2t
X =—-32sn2t — 24 cos2t
X =—4(8sin2t +6cos2t)
. X =-4(x-10)
Now let X =x-10

.. X =—-4X and thus the motion is SHM.

(i) Clearly n = 2.
R
2

/1

(i)  Amplitude
a=+8>+6"

=10

dv _dVv dh

® 0O S ra

L4V _ b’ dn
Tdt 4 dt

(i) Maximum Volume
1 3

V _=—n(2
One eighth full means
v="Tg

12

-

12

Thus



dh
We seek a when h =1.

dh _dhdv

dtavodt
_ 4
_ﬁﬂ
=4 m/min

v o
() E—k(M 50)

Whent=0, M =70.
0] Consider
M =20€"“ +50

dM
e 20ke"
= k(20e")
= k(M -50)
. SatisfiesD.E.

(i)  Whent=5 M = 150.

150 = 20€’* + 50
100 = 20¢€°
5=¢*
_In5
5
~0.3219

k

Thus whent =10

M = 20e'° + 50
=550

(iii)  No, as k > 0 membership always increases.

(d)  Given y=Vtsing—1gt® and x =Vt cos@

0] = ———, substitute to obtain
V cosO



_xsnf 1 X2
y cosO 2g V?2cos? 0

y= xtan9—§—§(1+ tanze) as required.

(i) The point Ais (2h,—h). Substitute:

2v?

~h=2htang — %2701+ tan’6)

But V2:4—glh
3

—h= 2htan0—3—h(1+tan20)
2

Thus 3tan’60—4tan6+1=0

So tan@:lor:—l3

()  Required to prove (a2 + bz)sin2 0 =a’+c” +2accosh

Join PR, QS. QS is the diameter, so
ZQPR=90° (angle in a semicircle).

In APQS QS* = a? +b? (Pythagoras’s Thm)
: b
Sn/ZPQS=—
Q oS

- QS= L
snZPQS
In quad PQRS ~ZPQR=180°—-6 (opposite angles of cyclic quadrilateral)
/ZPRS= /ZPQS (angles in same segment)

In APQR
PR’ =a’+c’— 2ac:cos(1800 - 6)
=a’+c? +2accosh
In APRS
PR_ b
snd sn/ZPRS
_ b
snZPQS

=QS from above



~.PR=QSsn6
PR* =QS’sin®6

=a’+c’ +2accosh

Thus (a2 + bz)sinze =a’+c® +2accos® QED
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